crossed-pair!!t4°

crossed-pair{i:1}(es;ff;is_req;is_ack;sndr;rcor;r;a)
=det [f-S(sndr,rcor,r)

& is_req(r)

& ff.S(revr,sndr,a)

& is_ack(a)

& (3r':{e:E| ff R(rcur,e)}

Jda’:{e:E| ff R(sndr,e)}
(ff .Sender(rcvr,r’) = r & ff.Sender(sndr,a’) = a & (r < d') & (a < 1))

clarification:

crossed-pair{i:1}
(es; [f; is-req; is_ack; sndr; rcor; r; a)
=qot [f-S(sndr,rcvr,r)
& is_req(r)
& ff.S(revr,sndr,a)
& is_ack(a)
& (Fr':{e:es-E(es)| ff-R(rcvr,e)}
Ja’:{e:es-E(es)| ff-R(sndr,e)}
(ff -Sender(rcvr,r’) = r € es-E(es)
& ff .Sender(sndr,a’) = a € es-E(es)
& es-causl(es; r; a')
& es-causl(es; a; 17)))
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